BCM SCHOOL, BASANT AVENUE
DURGI ROAD, LUDHIANA
ASSIGNMENT -1

ACCOUNTANCY (XI1)

iy Which of the following i n tool of 'Analyriz of Financal
Statements” ?

tm) Statement of Profit and Lowe 1h) Balance Sheet

iy Ratio Analysis 1d) Bath la)and {h)
OR
iy 1f the Operating Ratio of Pathwuoy Ltd. is 30%, its Operating Frofit
Ratio will be :
(e L00% i 30%
e 1% dy 7%

i Which of the following is mot & Solvency Ratio ?
ia) Interest Coverage Ratio
ib)  Retwm an lovestment
() Debt to Capital Employed Ratio
{d)  Total Asseta to Dehit Ratio
OR
(i}  'Which of the following are known as Efficiency Ratios 7
(a)  Liguidity Ratios
il Solvency Ratios
{¢)  Activity Ratios
(dy  Profitability Ratios
Which of the Jollowing transaction does nof result in ‘Inflow or outflow of
cash and cash Equivalents’?
ia)  Collection of cash from trade receivables
ib)  Payment to trade payablea
¢} Cash received on maturity of marketable securities
(d) Payment to employces

Which of the following is aof included in ‘Cash and Cash Equivalents'?
(a)  Demand deposits with banks

tb)  Short-term marketable aecurities

¢l Cheques in hand

b Trade receivables

iy,



Classify the fullawing iteme under majer headr and sub-brends (i anyt in
the Balance Sheel of a company aa per Schedule I, Part [ of the
Copipanies Act, 2011

e Unimpuler Softwnee

by Work-in-Frogress

rel Clalls in Advance

*These ralios ace caleulated to determine the abality of the business te

2eTvice ils ded in 1he long run.’ [dentify ond state the significance of
three such ratina,

a1 From the following information, calculate Operatling Eatio

T
Revenue from Operations : 10,00,000
Cost of Revenue from Operations @ 4,00,000
Selling expenses : A0,000
Administrative expenses ¢ 1,20,000
i From the following details, calculate Interest Coverage
Ratin :
Net Profit before Tax : ¢ 2,00.000
10% Long term debt  : ¥ 500,000
Tax rate 40°% 2+2=4

OR
{1  The Current Ratio of Zenith Lid. is 2 : 1. State giving rcasons,
which of the following transaciions will improve, reduce or not
change the current ratio ;
{i Payment to creditors T 20,000
it  Purchased goods on credit T 80,000
il Cash received from debtors ¥ 15,000
tiv:  [usue of equity sheeea T 5,00,000



From the hgurex @ven n the Balapere Sheot and additvnal informatuen.
calculate 'Cash Flows from Investing Activilies and Cash Flows lom
Finnnoing Aclivities”.

Balance Shect of SHOBHA Lid. as at 31™ March. 2022

R Mote a1.3.Mr22 31 2ol
Particulars o P’y r
1 - Equity and Liabilities :
1. Shareholders” Funds
1a' Equity Share Capital 8.00, 000 6,00 D0
(b} Regerves and Surplus 1 PRI 50,000
2. MNon-Current Liabilitiea
Laong-ierm Borrowings 2 4 OH0, DM R ARk
4. Current Liabilities 1
tal Trado Payables 40,000 15, 1C0¥
{b! Bank Overdraft 100,000 . BS,000
(e Shoni-ierm Provisions 3 30,000 : 20,000
I
Toial 15,790,000 11,000,000
Il = Apnets ©
1. MNon-Currcent Asscts
Fixed Anxedn
1i}) Tangible Assetx 4 | £.00,000 500,000
1ii' Intangible Asacia ) | i St A
2. Current Asgsets
(@} [Aventorica R N 4,000 O
(bt Trade Receivables 4,060 DM MO0
ica€’arh and Cash ,
Equivalents TO000 B LW
Touwnl 15, TOO0 L1000
M tir Acenunts - . .
Mot N . 41.3.2022 ERWH R 2]
., Particulars * +
1 Reserve and Surplus )
Surplus i.e. Balance in Statement
of rafit and T.ass 2 001,000 . HoER LT ]
2,00 0D 50,000
2 Long-term Borrawinga
| 1074 Bebentures 400,000  3,00.000
| I $.00.000 300,000
3 Shur-lterm Provisions
Provision fer tox S0.000 | 20,000
30,000 20,00
4 | Tangible Asscts |
Machinery T.00.000 | £,50,000
! Laran - Accumulated Depreciation ] _ll_:%@??i_.__(l.ﬁﬂ.ﬂﬂﬂj_
800,000 ; 5,00, (XM
fi | Intongible Assets _ B -
| Goodwill - | 50,000

Addihonal Information
11 A picce of mochinery costing € 1,60.000 was acid at & losa of
T 20,000. Depreciation charged during the year amountad to

T 40,000

{ii} F 1,000,000, 10% debentures wenre isgued on 31.3. 2022,



